A2 =33 SN SAEAST
Ma: OPEE EX MAKIN &
H°Rlr sHE RSN 4u (SH9: =)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
SNSASE 11,897,451 22,638,606 A10,741,155
= 464,042
= 11,433,409
oSN ZXAF MAHIH =& 10,688,613 21,437,941 10,749,328
= 464,042
& 10,224,571
SHE PSS Hat 1,056,903 972,682 84,221
= 464,042
& 592,861
SR A 592,861 520,887 71,974
101 2124 H| 305,662 291,107 14,555
M IRINZ2ENSES 305,662 291,107 14,555
(OFENIA PRI E=PN L 305,662
201 Ler2 3| 84,992 69,700 15,292
01 At22telt| 35,49 20,200 15,292
OSAts 2 & MI|HM2te| CHY 22,000
O=2& Il=Hl 400
O/t S A 2te| RIE 13,092
02 2323l 49,500 49,500 0
oxtgr & S =2l, }RFHl S 49,500
202 04| 10,180 10,180
01 =WHH4HI 10,180 10,180
OSSRt =& & LA Ol 10,180
204 M2 A 8,400 8,400
03 EZZFZH| 8,400 8,400
ogelast] 50,0003 =148+ 12& 8,400
206 =4I 84,000 71,500 12,500
01 M=l 84,000 71,500 12,500
ElHl & S S 84,000
405 XHeHESHI 99,627 99,627
01 ML= SFSHI 99,627 99,627
QO0|A 2X Z& 22|18 =37 ui 7 99,627
AT L ASMAH| N (S-2ASMA 464,042 451,79% 12,247
= 464,042
101 eI244| 355,195 348,000 7,19%
= 355,195
M IItH22NSES 355,195 348,000 7,19
OJSMA 355,195
= 355,19%
201 LEr2 A 2,750 2,750 0
= 2,750
01 AtR2telt| 2,750 2,750 0
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4= =33 SN SNSREE
I OHEN SN dAHA 2
H°Rlr sHE RSN 4u (SH9: =)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
OXxZE Xtz 2,750
= 2,750
206 M= HI 106,097 101,045 5,052
= 106,097
01 MHZH] 106,097 101,045 5,052
e, s S 106,097
= 106,097
& Y sP2EAS g2l 398,246 393,259 4,987
&E & 2EAE = 288,706 285,885 2,821
101 el2ib] 226,706 233,885 AT, 179
MU IIRHZZ2NSES 226,706 233,885 AT, 179
OZ A2 SR ik 12| 226,706
201 fer=23y| 30,000 30,000
01 At 2|t 30,000 30,000
OTAMZENE dat =9 30,000
202 04| 2,000 2,000
01 SLHo4H 2,000 2,000
ogE & 2EAEY = 2,000
206 =4 30,000 30,000
01 MHZH 30,000 30,000
OFBYL, +==HL(RS HIR), EHl S 30,000
FAESE Jl2HY & WS 109,540 107,374 2,166
101 el21H] 59,540 57,374 2,166
04 JIZtNZ22XNSES 59,540 57,374 2,166
OTAIZE AISE 212 59,540
201 eH=3| 30,000 30,000
01 At2t2IH] 30,000 30,000
OZESHZUHSNIANE Old=E, S==5
dMETE 10,000
Ou &2t 20,000
206 =4 20,000 20,000
01 MHZH 20,000 20,000
ORSH2MHSKFAIE HXel Al 15,000
OJleHLE AlSf 5,000
AL 382 81,200 72,000 9,200
AR 2tel 81,200 72,000 9,200
201 Zet=d] 81,200 72,000 9,200
01 At2teltl 1,200 0 1,200
OZRASENXE 28 FAHEAE HH 1,200
2 s=5=4Hl 80,000 72,000 8,000
OFAM=E 80,000
HFSH 018 gAY 9,152,264 20,000,000 10,847,736
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U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
SHESESE 08 ZdA 9,152,264 20,000,000 10,847,736
401 AIEHIYL SO 274,754 0 274,754
01 Al&H] 274,754 0 274,754
oxs Fe= 274,754
403 AXIEHMSA=01d 8,877,510 20,000,000 A11,122,490
02 ST 2ASOHEtA =2 2AE A 8,877,510 20,000,000 211,122,490
Ost=3EE 018 Z8AY 8,877,510
AY 2T (SM=VEY) 1,208,838 1,200,665 8,173
el 24| 1,173,441 1,165,268 8,173
SR8 1A XI& 1,080,570 1,076,965 3,605
101 el24d] 1,046,670 1,044,385 2,285
01 2= 1,046,670 1,044,385 2,285
oJl=2s 844,100
os3 794,400
-4=2(SHSH) 9,000,000 x1H =122 108,000
-S2(HSH) 7,500,000 x1E =122 90,000
62 4,500,000 x5~ 122 270,000
-2 3,800,0002 x4 x12& 182,400
= 2,500,000&x3g~12& 90,000
—ATAL 4,500,000 1E~12& 54,000
odu=a 49,700
-g2=¢ 596,400,000& *1/12 49,700
=g 95,844
oti=+< 10,000,000 *4. 1%+ 12& 4,920
Od2s=gitita 15,600
-25H0/ & 130,000 x5S« 122 7,800
-20~25=3 0] 2t 110,0002x3& x12& 3,960
-15~20 0] 8+ 80,0008 x1& 123 960
-15E 02t 60,0002 x4~ 122 2,880
OJtE+g 14,400
SN} 40,0003 x 15 =122 7,200
-2YIE 20,0002 308~ 123 7,200
Oflg=4 2,400
-85 40,0002 x5~ 128 2,400
OS24 9,240
-J|=20k 3,480
o= 50,0008 x1& =123 600
62~72 30,0002 +6& * 123 2,160
82~92 20,0002 x3&* 122 720
-Jtats 1,200
LA 30,0002 x3& « 122 1,080
Ng2HE 10,0003 x1& 123 120
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Az =33 SN SAEAST
B HYPAAH|(SNBUEE)
el I E2al (2 M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
-l p PG 80,0002 124x 122 960
—SAE DG 100,000 +3+ 122 3,600
OAlZtRIZ S g
10,9522 x 15 +25A| 24123 49,284
(OF=E =] 140,000 x 15 =122 25,200
OEE=FItl 596,400,000 *1/12x60%+22] 59,640
O% 2 &l 21,886
O¢sH42) 270,000 78%*86%+ 12 2,174
O¢ISHI(52) 250, 0003 84%+86%+* 12 2,168
Oz SHl 1,700,000% 86w+ 122 17,544
204 22 =HAH| 33,900 32,580 1,320
02 Ag=2 4| 33,900 32,580 1,320
©43 400,000 x1H« 122 4,800
©=] 250,0003x1~ 123 3,000
063 175,000 6~ 123 12,600
ora 165,000 x4 =122 7,920
=] 155,000 «3S* 122 5,580
LSS 2| & A7 92,871 88,303 4,568
101 el24d] 82,920 79,568 3,352
03 SRA(RINAHA) 222+ 82,920 79,568 3,352
OYTHL 2| (MLERY) 82,920
oJlzs 2,300,000 x2S =128 55,200
od2=¢g 2,300, 0002 x2H *30%*22] 2,760
Odxtraxt=g
100,000 x2E « 12& 2,400
Ot 22+
13,0002 x2 & * 150920 Al 2+ 122 9,360
OB (B2, THH2)
80,0002 2 ~ 122 1,920
OE &=l 2,300, 0002 +2& »60%*22] 5,520
OdHZ Al 140,000 x2& x 122 3,360
OuSH] 100,000 x2& x 122 2,400
M HASFEESS 9,951 8,735 1,216
M BRA(RIHL) 22N EEERES S 9,951 2,109 7,842
OZRH(RINNHA)22X EESRES S 9,951
=&l 35,397 36,397 0
FA2EII2ZH 35,397 36,397 0
201 Let=dh] 17,887 17,887 0
01 At2tlt] 17,887 17,887 0
ORMKEg ARl 17,887
202 0o4dl 5,130 5,130 0
01 =LHOHI 5,130 5,130 0
OF A2 =LY 5,130
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